CONTRACT NO. 7624

DATE: 6/16/17		Capitol Underground, Inc.		Inc.	R.G. Huston Co., Inc.	Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
Section B: Proposal Page 10701.0 - TRAFFIC CONTROL - LS 10720.0 - TRAFFIC CONTROL SIGN - PORTABLE	1.00	\$9,885.00	\$9,885.00	\$8,000.00	\$8,000.00	\$8,300.00	\$8,000.00
ARROW BOARD - DAYS 10721.0 - TRAFFIC CONTROL SIGN - PORTABLE	14.00	\$25.00	\$350.00	\$20.00	\$20.00	\$20.75	\$20.00
CHANGEABLE MESSAGE - DAYS 10911.0 - MOBILIZATION - LS 20101.0 - EXCAVATION CUT	14.00 1.00	\$125.00 \$45,770.00	\$1,750.00 \$45,770.00	\$100.00 \$10,000.00	\$100.00 \$15,624.00	\$100.00 \$36,000.00	\$100.00 \$7,305.00
- CY 20140.0 - GEOTEXTILE FABRIC TYPE SAS (NON-	6195.00	\$13.00	\$80,535.00	\$22.00	\$16.50	\$16.00	\$16.00
WOVEN) - SY 20219.0 - BREAKER RUN - TON 20221.0 - TOPSOIL - SY	500.00 2400.00 6900.00	\$2.50 \$10.10 \$2.55	\$1,250.00 \$24,240.00 \$17,595.00	\$2.50 \$13.50 \$2.00	\$3.85 \$11.50 \$3.20	\$2.10 \$12.25 \$3.10	\$5.00 \$17.50 \$2.10
20303.0 - SAWCUT BITUMINOUS PAVEMENT, FULL DEPTH - LF	105.00	\$2.00	\$210.00	\$3.00	\$1.95	\$2.00	\$1.75
20322.0 - REMOVE CONCRETE CURB & GUTTER - LF 20402.0 - CLEARING - STA 20407.0 - GRUBBING - STA 20701.0 - TERRACE SEEDING - SY 21063.0 - EROSION MATTING, CLASS I, TYPE A -	80.00 12.50 12.50 6900.00	\$7.00 \$504.00 \$316.00 \$1.80	\$560.00 \$6,300.00 \$3,950.00 \$12,420.00	\$2.10 \$477.00 \$412.00 \$1.25	\$7.50 \$477.00 \$299.00 \$1.25	\$8.90 \$500.00 \$310.00 \$1.30	\$6.00 \$503.00 \$315.00 \$1.25
ORGANIC - SY	6900.00	\$1.70	\$11,730.00	\$1.40	\$1.40	\$1.50	\$1.40
30201.0 - TYPE 'A' CONCRETE CURB & GUTTER - LF 30301.0 - 5" CONCRETE SIDEWALK - SF	1440.00 100.00	\$14.50 \$6.30	\$20,880.00 \$630.00	\$16.75 \$6.30	\$14.14 \$6.27	\$14.70 \$11.25	\$13.00 \$6.00
30302.0 - 7" CONCRETE SIDEWALK AND DRIVE - SF 30340.0 - CURB RAMP DETECTABLE WARNING FIELD	1070.00	\$6.05	\$6,473.50	\$7.00	\$6.22	\$7.15	\$6.50
- SF 40101.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION 1 - TON	152.00 1960.00	\$26.40 \$16.00	\$4,012.80 \$31,360.00	\$30.00 \$15.80	\$26.26 \$15.25	\$40.00 \$16.75	\$30.00 \$18.00
40102.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION 2 - TON	2525.00	\$16.00	\$40,400.00	\$15.80	\$14.75	\$14.00	\$18.00
40201.0 - HMA PAVEMENT TYPE E-0.3 - TON	240.00	\$64.00	\$15,360.00	\$64.00	\$64.00	\$67.00	\$69.60

CONTRACT NO. 7624

DATE: 6/16/17		Capitol Underground, Inc.		Inc.	R.G. Huston Co., Inc.	Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
40203.0 - HMA PAVEMENT TYPE E-3 - TON	1330.00	\$56.25	\$74,812.50	\$56.25	\$56.25	\$59.00	\$54.84
40211.0 - BITUMINOUS TACK COAT - GAL	150.00	\$2.05	\$307.50	\$2.05	\$2.05	\$2.10	\$3.00
40231.0 - ASPALT DRIVE & TERRACE - SY	100.00	\$35.00	\$3,500.00	\$35.00	\$61.20	\$36.50	\$48.50
60881.0 - PAVEMENT MARKING REMOVAL, 6-INCH -							
L.F.	1000.00	\$1.50	\$1,500.00	\$0.50	\$0.50	\$0.50	\$0.50
60886.0 - PAVEMENT MARKING REMOVAL, 4"							
DOUBLE LINE - L.F.	750.00	\$2.00	\$1,500.00	\$1.00	\$1.00	\$1.00	\$1.00
60940.0 - TEMPORARY PAVEMENT MARKING TAPE, REMOVABLE, REFLECTIVE, LINE, 4-INCH - L.F. 60941.0 - TEMPORARY PAVEMENT MARKING TAPE, REMOVABLE, REFLECTIVE, DOUBLE LINE, 4-INCH -	3600.00	\$1.00	\$3,600.00	\$1.00	\$1.00	\$1.00	\$1.00
L.F.	1600.00	\$2.00	\$3,200.00	\$1.00	\$1.00	\$1.00	\$1.00
70002.0 - FURNISH AND INSTALL 6 INCH PIPE &		Ψ=.00	ψο,Ξοοίσο	ψσσ	ψσσ	ψσσ	Ψσσ
FITTINGS - L.F.	20.00	\$112.00	\$2,240.00	\$93.00	\$108.00	\$130.00	\$251.45
70003.0 - FURNISH AND INSTALL 8 INCH PIPE &		•	, ,	*****	,	*	•
FITTINGS - L.F.	100.00	\$75.00	\$7,500.00	\$99.00	\$93.50	\$91.00	\$851.73
70005.0 - FURNISH AND INSTALL 12 INCH PIPE &		·	. ,	·	·	·	·
FITTINGS - L.F.	10.00	\$76.30	\$763.00	\$114.00	\$893.00	\$150.00	\$774.74
70032.0 - FURNISH AND INSTALL 8-INCH WATER			•		•		•
VALVE - EACH	2.00	\$2,150.00	\$4,300.00	\$2,210.00	\$1,538.00	\$2,600.00	\$3,225.00
70041.0 - RELOCATE HYDRANT - EACH	2.00	\$1,565.00	\$3,130.00	\$940.00	\$552.00	\$1,900.00	\$3,041.00
70080.0 - CUT-IN OR CONNECT TO EXISTING WATER							
SYSTEM - EACH	6.00	\$2,225.00	\$13,350.00	\$2,700.00	\$1,550.00	\$1,900.00	\$2,625.00
70101.0 - FURNISH AND INSTALL INSULATION - L.F.	40.00	\$15.50	\$620.00	\$13.00	\$12.40	\$23.25	\$20.00
70104.0 - ADJUST WATER VALVE BOX - EACH	7.00	\$275.00	\$1,925.00	\$167.00	\$200.00	\$300.00	\$300.00
90000.0 - EXCAVATE, RECYCLE AND/OR DISPOSE							
OF CONCRETE RUBBLE - LUMP SUMP	1.00	\$30,000.00	\$30,000.00	\$20,000.00	\$650.00	\$500.00	\$1,000.00
90001.0 - END-OF-ROADWAY SIGNING - EACH	10.00	\$525.00	\$5,250.00	\$312.00	\$1,000.00	\$210.00	\$175.00
90002.0 - TRAFFIC CONTROL FLEXIBLE TUBULAR							
MARKER POSTS - EACH	225.00	\$29.00	\$6,525.00	\$20.00	\$20.00	\$20.75	\$20.00
90003.0 - TRAFFIC CONTROL FLEXIBLE TUBULAR							
MARKER BASES - EACH	225.00	\$1.00	\$225.00	\$8.00	\$5.00	\$5.20	\$5.00

CONTRACT NO. 7624

DATE: 6/16/17		Capitol Underground, Inc.		Inc.	R.G. Huston Co., Inc.	Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
20217 - CLEAR STONE - TON	500.00	\$4.00	\$2,000.00	\$17.00	\$12.00	\$19.75	\$7.00
21002.0 - EROSION CONTROL INSPECTION - EACH	8.00	\$175.00	\$1,400.00	\$425.00	\$425.00	\$450.00	\$425.00
21011.0 - CONSTRUCTION ENTRANCE - EACH	1.00	\$500.00	\$500.00	\$865.00	\$525.00	\$150.00	\$500.00
21013.0 - STREET SWEEPING - LUMP SUM	1.00	\$3,300.00	\$3,300.00	\$1,850.00	\$1,460.00	\$1,200.00	\$2,000.00
21022.0 - SILT FENCE - PROVIDE, INSTALL & MAINTAIN - L.F.	200.00	\$2.00	\$400.00	\$3.00	\$3.00	\$3.10	\$3.00
21023.0 - SILT FENCE - REMOVE & RESTORE - L.F.	200.00	\$2.00 \$0.50	\$400.00 \$100.00	\$3.00 \$1.00	\$3.00 \$1.00	\$3.10 \$1.00	\$3.00 \$1.00
21025.0 - SILT FENCE - REMOVE & RESTORE - L.F. 21025.0 - SILT SOCK (12-INCH) - PROVIDE, INSTALL &	200.00	\$0.50	\$100.00	\$1.00	\$1.00	\$1.00	\$1.00
MAINTAIN - L.F.	100.00	\$4.50	\$450.00	\$7.00	\$7.00	\$7.50	\$7.00
21026.0 - SILT SOCK (12-INCH) - REMOVE &	100.00	φ4.50	φ430.00	φ1.00	φ1.00	φ1.50	φ1.00
RESTORE - L.F.	100.00	\$2.00	\$200.00	\$1.00	\$1.00	\$1.00	\$1.00
21046.0 - INLET PROTECTION TYPE A - PROVIDE &	100.00	Ψ2.00	Ψ200.00	ψ1.00	ψ1.00	ψ1.00	ψ1.00
INSTALL - EACH	4.00	\$68.00	\$272.00	\$125.00	\$125.00	\$130.00	\$125.00
21047.0 - INLET PROTECTION TYPE A - MAINTAIN -							
EACH	8.00	\$13.00	\$104.00	\$60.00	\$60.00	\$100.00	\$60.00
21048.0 - INLET PROTECTION TYPE A - REMOVE -							
EACH	4.00	\$32.00	\$128.00	\$50.00	\$50.00	\$65.00	\$50.00
21056.0 - INLET PROTECTION TYPE D HYBRID -							
PROVIDE & INSTALL - EACH	6.00	\$150.00	\$900.00	\$165.00	\$165.00	\$175.00	\$165.00
21057.0 - INLET PROTECTION TYPE D HYBRID -						^	
MAINTAIN - EACH	12.00	\$13.00	\$156.00	\$65.00	\$65.00	\$75.00	\$65.00
21058.0 - INLET PROTECTION TYPE D HYBRID - REMOVE - EACH	0.00	#22.00	# 400.00	ድ ጋር 00	ድጋር 00	ድ ጋር 00	ድ ጋር 00
21061.0 - EROSION MATTING, CLASS I, URBAN TYPE	6.00	\$32.00	\$192.00	\$25.00	\$25.00	\$25.00	\$25.00
A - S.Y.	1500.00	\$1.70	\$2,550.00	\$1.60	\$1.60	\$1.80	\$1.60
50401.0 - 12 INCH TYPE I RCP STORM SEWER PIPE -	1300.00	Ψ1.70	Ψ2,330.00	ψ1.00	φ1.00	Ψ1.00	Ψ1.00
L.F.	459.00	\$55.00	\$25,245.00	\$58.00	\$50.50	\$58.00	\$56.36
50741.0 - TYPE H INLET - EACH	5.00	\$1,950.00	\$9,750.00	\$1,780.00	\$1,650.00	\$2,300.00	\$2,218.00
20311.0 - REMOVE SEWER ACCESS STRUCTURE -		4 1,000100	40,100100	4 1,1 00100	¥ 1,000100	4 =,000100	-
EACH	2.00	\$650.00	\$1,300.00	\$730.00	\$850.00	\$530.00	\$500.00
20314.0 - REMOVE PIPE - LF	35.00	\$29.00	\$1,015.00	\$21.00	\$35.00	\$27.75	\$20.00
21061.0 - EROSION MATTING, CLASS I, URBAN TYPE							
A - SY	1500.00	\$1.70	\$2,550.00	\$1.60	\$1.60	\$1.80	\$1.60
40301.0 - FULL WIDTH GRINDING - SY	500.00	\$9.35	\$4,675.00	\$9.35	\$9.35	\$9.70	\$9.10

CONTRACT NO. 7624

DATE: 6/16/17				Inc.	R.G. Huston Co., Inc.	Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
50202.0 - TYPE II DEWATERING - LUMP SUMP	1.00	\$4,750.00	\$4,750.00	\$1.00	\$220.00	\$500.00	\$100.00
50211.0 - SELECT BACKFILL FOR STORM SEWER - TF	2212.00	\$0.01	\$22.12	\$0.01	\$0.01	\$0.01	\$0.10
50225.0 - UTILITY TRENCH PATCH TYPE III - TF 50390.0 - SEWER ELECTRONIC MARKERS(storm) -	68.00	\$60.00	\$4,080.00	\$112.00	\$76.00	\$62.00	\$60.00
EACH	4.00	\$37.50	\$150.00	\$70.00	\$49.00	\$120.00	\$30.00
50412.0 - 54 INCH TYPE I RCP STORM SEWER PIPE -	1.00	ψον.σσ	Ψ100.00	Ψ10.00	Ψ10.00	Ψ120.00	ψου.σσ
LF	1737.00	\$143.50	\$249,259.50	\$161.00	\$190.00	\$210.00	\$197.34
50434.0 - 18 INCH TYPE II PAVEMENT STORM		***************************************	+	***************************************	************	*	, , , , , , , , , , , , , , , , , , ,
SEWER PIPE - LF	16.00	\$62.60	\$1,001.60	\$67.00	\$120.00	\$110.00	\$85.19
50461.0 - 12 INCH RCP AE - EACH	1.00	\$980.00	\$980.00	\$800.00	\$870.00	\$1,500.00	\$863.00
50471.0 - 54 INCH RCP AE - EACH	2.00	\$2,700.00	\$5,400.00	\$2,605.00	\$2,550.00	\$3,000.00	\$3,392.00
50499.0 - CONCRETE COLLAR - EACH	1.00	\$450.00	\$450.00	\$800.00	\$923.00	\$480.00	\$500.00
50611.0 - 54 INCH RCP AE GATE - EACH	2.00	\$2,350.00	\$4,700.00	\$1,265.00	\$1,113.00	\$1,000.00	\$1,130.00
50726.0 - 6'X6' STORM SAS - EACH	7.00	\$10,775.00	\$75,425.00	\$6,285.00	\$9,150.00	\$7,100.00	\$11,230.00
50801.0 - UTILITY LINE OPENING (ULO) - EACH	5.00	\$400.00	\$2,000.00	\$550.00	\$590.00	\$750.00	\$650.00
90030.0 - 6'X6' SEWER ACCESS STRUCTURE WITH							
DIVERSION PIPE - EACH	1.00	\$13,500.00	\$13,500.00	\$10,450.00	\$14,500.00	\$12,300.00	\$12,800.00
90031.0 - SCREEN TREATMENT DEVICE - EACH	1.00	\$33,000.00	\$33,000.00	\$36,000.00	\$35,570.00	\$36,000.00	\$31,000.00
90032.0 - FIELD BEND - EACH	1.00	\$750.00	\$750.00	\$1,125.00	\$1,460.00	\$2,200.00	\$1,380.00
90033.0 - PIPE PLUG - EACH	4.00	\$400.00	\$1,600.00	\$278.00	\$410.00	\$480.00	\$540.00
90034.0 - SEEDING - NO MOW TURF - SY	1520.00	\$1.80	\$2,736.00	\$3.00	\$3.00	\$3.20	\$3.00
50212.0 - SELECT BACKFILL FOR SANITARY SEWER -							
T.F.	149.00	\$0.01	\$1.49	\$0.01	\$0.01	\$0.01	\$0.10
50301.0 - 8" PVC SANITARY SEWER PIPE SDR-35/							.
SDR-26 - L.F.	149.00	\$71.60	\$10,668.40	\$131.00	\$131.67	\$63.00	\$151.11
50390.0 - SEWER ELECTRONIC MARKERS(sanitary) -	4.00	007.50	# 450.00	# 00.00	# 50.00	# 400.00	450.00
EACH	4.00	\$37.50	\$150.00	\$68.00	\$50.00	\$120.00	\$50.00
50701.0 - 4' DIA. SANITARY SAS - EACH 60229.0 - FURNISH & INSTALL 2 INCH PVC (SCHEDULE 80) CONDUIT BY "OPEN TRENCH"	2.00	\$2,875.00	\$5,750.00	\$3,120.00	\$2,765.00	\$4,700.00	\$3,897.00
METHOD - L.F.	1145.00	\$9.50	\$10,877.50	\$9.75	\$9.75	\$10.25	\$9.75

CONTRACT NO. 7624

DATE: 0/10/17		Capitol Uno	derground, Inc.	S & L Underground, Inc.	R.G. Huston Co., Inc.	Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
60231.0 - FURNISH & INSTALL 2 INCH PVC							
(SCHEDULE 40) CONDUIT BY "OPEN TRENCH"							
METHOD - L.F.	160.00	\$8.50	\$1,360.00	\$9.35	\$9.35	\$9.70	\$9.35
60403.0 - CONSTRUCT TYPE LB-3 BASE - EACH	6.00	\$1,300.00	\$7,800.00	\$900.00	\$900.00	\$1,400.00	\$900.00
60412.0 - CONSTRUCT TYPE "M" BASE - EACH	1.00	\$1,500.00	\$1,500.00	\$1,350.00	\$1,350.00	\$1,550.00	\$1,350.00
86 Items	Totals		\$995,007.91	\$1,017,831.86	\$1,037,906.21	\$1,087,101.86	\$1,159,605.45